Q. 3 (i) 1a4 | w

At B: rj =0
. 2
usin60.t- 0.5gcos30.t =0
t = 2u/g

IABI = ucos 60 .(2u/g) + 0.5 g sin 30 . 2u/g)"

= 2u¥g
5 . =y . >
(i) At B: v = (ucos60+gsin30.2u/g) i + (usin60-gcos30.2u/g) j
nd -
= 3u2i - VBu2]
L
Rebound velocity = uc\wnw+ nz\w:\:

At C: —.MVH 0

(eV3u2) - 0.5gcos30. =0

t = 2eulg
IBCl = (3u2)(2eulg) + 0.5gsin30(2eu/g)”
= (3+e)eu™g
IBCl = 2IABI
3 +e)euyg = 4uMg
> e = |
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Q. 4 (i) ﬂH._.w_
. 5

t ™
A: T =mf+g3) ... (i)
B: mg -T=mf ... (ii)
R1 = mg/3

Eliminate f from equations (i) and (ii)

T = 2mg/3
(ii) A: T - pmg = mg/3 ... (iii)
B: mg-T-uR1I=0 ... @iv)
Rl = mgj3 :

Add equations (iii) and (iv)
mg - ymg - umg/3 = mg/3
1-pu-p3 =173

=9 u =05
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